21.01.21

Maths Worksheet

Yesterday we have learnt about the bus stop method of division. Use your knowledge to answer the questions below.
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Challenge
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ANSWERS
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1. a. Atthe factory, chocolate bars and packed in boxes of 9. How many boxes can be
filled if there are 2,781 chocolate bars ready to be packed? Complete the model and
short division calculation.
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b. Jodie has won £8,940 on the lottery and wants to share it between her 4
grandchildren. How much will each child receive? Complete the model and short
division calculation.
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Calculate:
c. 8,064+7= d. 4892+4=

e. 5855+5= f. 6,024+6=
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2. a. Spot the mistakes. Explain and correct the working.
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c. Leoniscalculating 1,624 + 8. He says you can’t do it because 8 is larger than all of
the digits in the dividend. Do you agree?

d. Use <, > or =to make the statements correct.
2,895+3 2,895+5
7,836+ 6 6,412+ 4
6,738 +3 8,984 +4
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3. a. Order these division calculations by difficulty starting with the one you think is the
easiest to solve. Find the answers and explain your reasoning.

7,604 ~ 4 3,368 +8 9,504 +6 9,360 +3

Easiest Most difficult
—————————————————————————————————————————————————————————

b. Find the missing digits.

1/3(0]6 5115 811
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Question |Question Answer
No.
1 a. How many boxes can be a. 2,781+9= 309
filled if there are 2,781 b. £8,940 +4= £2235
chocolate bars ready to be c. 8,064+7= 1,152
packed? 4,892 1,223
b. How much will each child 5855+5= 1,171
receive? 6,024 6= 1,004
c 8064+7=
4,892 +4=
5,855+5=
6,024+ 6=
2 a. and b. Spot the mistake. a. Thereis no exchanging between columns. The
Explain and correct the answer should be 1,402.
working. b. The person has not carried the exchanged
c. Leonis calculating 1,624 + 8. thousands into the hundreds column. The
He says you can’t do it answer should be 556.
because 8is larger thanallof [c. Leoniswrong. You can exchange between
the digits in the dividend. Do columns. You can’t make a group of 8
you agree? thousands but you can make groups of 8
d. Use<,>or=to makethe hundreds from 16 hundreds. The answer is
statements correct. 203.
d. 2,895+3>2,895+5
7,836+ 6<6,412+4
6,738+3=8,984+4
3 a. Order these division a. Answers may vary.

calculations by difficulty
starting with the one you
think is the easiest to solve.
Find the answers and explain
your reasoning.

b. Find the missing digits.

9,360 + 3 = 3,120 requires no exchanges

7,604 1,901 requires one exchange

3,368 421 requires two exchanges

9,504 1,584 requires three exchanges.
b. 6,530 1,306

3,605+ 7=515

7,335+9=815





